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Vistadome coaches were run for the first
time in Karnataka on which route ?

(a)
(b)
()
(d)

Mysuru - Hubli
Mangaluru - Karwar
Karwar - Shivamogga

Yeshwantpur - Mangaluru

Bajrang Punia won medal in

at Tokyo Olympics.

(a)
(b)
(c)
(d)

Silver, Boxing
Bronze, Wrestling
Silver, Wrestling

Bronze, Boxing

Which of the following is a tributary of
Krishna River ?

(a)
(b)
(©
(d)

Hemavathi
Bhima
Sharavati
Kabini

Who among the following represented

India in swimming at Tokyo Olympics ?

(a)
(b)
(c)
(d)

Sajan Prakash
Srihari Nataraj
Maana Patel

All of these
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"B, 3T esTBeedon’ AR’
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(a) ARere

(b) BT,
(c) bLoose*

(d) esﬁadc:‘
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(a) QporesenZd

(b) WBRRJPOY,

(c) e womd PNRERY,
(d) ©TFoEm,

“S8DeodTO B IFORO” 0w TIPS, |

1967 B9, worinsd IFE STSWO d0W
BYOD BIOOT TREORRNT. TEO0

B30 00 oo BT ?
(a) 07, BT3B

(b) WDFOT*

(c) &&=’

(d) YO Alelanl™

0,08 et TTE/T[WREToZ es>
e8RS 080 (freezing point) ?

(a 0°
(b) 32°
(c) 100°
d) 212°

|
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8.

“Macintosh” an Operating System is a
product of

(a)
(b)
(c)
(d)

Google
Microsoft
Oracle

Apple

If a heater coil is cut into twWo equal parts
and only one part is used in the heater,

the heat generated will be:

(a) doubled
(b) unchanged
(c) ~ one-fourth
(d) halved

The words “Naxalite and Naxalism” are
derived from the name of Naxalbari
village where revolts occurred in 1967.
In which state is Naxalbari situated ?

(a) Andhra Pradesh
(b) Jharkhand

(¢) Chattisgarh

(d) West Bengal

What is the freezing point of water as per
the Fahrenheit scale ?

(@) 0°
(b) 32°
(c) 100°
d 212°
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9.  OXREN7,®Y CI0TEST'N e[ 1y ® 9 9.  Which planet is the twin of Uranus ?
(a) (a) Jupiter
(b) S - (b) Neptune
(c) 3D (c) Saturn
(d) =oony (d) Mars

10. oo dRne (El Nino) 205 I

10. ElNino is
(@) ROT,T WOOMY
(a) . A seastorm
(b) BN ToNC TTos
(b) A warm ocean current

(c) wrgaaioo:bd 973238
(c) A tropical disturbance

(d) BoE=INTET fad@tocb BIH _
(d) Another name of typhoon

I1. 39NIJIn9Q, oxnIosy  §38 ¥ | 11. Which one of the following is used to

uom@m—%ﬁ NTo3ReNZZT ? induce artificial rain ?

(a) eRpedodo ERedEt | (a) Ammonium Chloride
(b)  T,O0d0 wrimerSees* (b) Calcium Carbonate
(€) 0P wodeedmt ~ (¢) Silverlodide

(d)  pem aodo P eest (d) Potassium Nitrate

12.  F9NSHYrvd, odnsyed T QdeepEs 12. Which of the following is an example of

an insulator ?

l
a
l
BT 2 l
(a) = { (a) Diamond
b) M
(b) =zox | (b) Mercury
(c) LS } (¢) Iron
d) Chromi
(d) Br en0o0 | (d) Chromium
-
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(a)
(b)
(©
(d

16
32
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(b)
()
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14.

16.

13. Which of the following is a Wrong

statement ?

(@)

(b)

(c)
(d)

Light travels with a speed greate
than that of sound

Light cannot travel through
vacuum
Light travels in a straight line

None of these

A 32-bit word computer can access

(a)
(b)
(©)
(d)

bytes at a time.
4
8
16
32

The temples of Pattadkal built during the
Chalukya Empire are made of

(a)
(b)
(©
(d)

Pink marble stone
Red laterite stone
Red sand stone

Red granite stone

Optical Fibre works on the principle of

(a)
(b)
(c)
(d)

Doppler Effect

Diffraction

Total Internal Reflection

Raman Effect




17.

18.

19.

20.
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odrodrt ﬁowo@kmﬁd ?

(a)
(b)
(c)
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(ETvelnnin
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(a)
(b)
(c)
(d)

QW
Jeer* (8Qoonw)
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bonl. o

ARV, CIRTITO % ?

(a)
(b)
(©)
(d)

za‘az:j:> PRFT m%mw Mo 0T
U FRFT AT ROTORET

(a) 3 (b) FORER

AYrVE, CARPYTR B,

HO® 3583 Kez 3ot (GST) O, LTS
cdns FoF oo DG ORYE 7

(a)
(b)
(©)
(d)

BTN

Qe (NITI) esodoert
GST Svome

GST Swras's

17.

18.

19.

20.

With which company is Sundar Pichai

associated ?

(a) Amazon
(b) Microsoft
(¢) Google
(d) Yahoo

Which amongst the following is a
mammal ?

(a) Emu
(b) Whale
() Dinosaur

(d) Shark

Which of the following is true ?

(a) Gautama Buddha was the founder
of Buddhism

(b) Mahavira was the founder of
Jainism

(c) Both (a) & (b)

(d) None of these

The Goods and Services Tax (GST) is
determined by which body in India ?

(a) RBI

(b) NITI Ayog
() GST Council
(d) GST Network
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BIOFLIBT OB ROGITOTR TS,
OIRHTD 9

(a) E'CS%

(b) Romylecdor

© aw

(d oo

S IR, BITTORINPAS 2
(a)  Q0eoTdF womdd

(b) ®& &

() easad B

(d) ﬁz;L £2 303 o83 %ma’&

POBHY, Beowd Facdn B 9N oI
SONY Bw, T, Be3TE, §e0d), 683N ?

(a) nom

(b) STIO

(€) wFRI

(d) ReemEd

ROOT TR, B, 57 8RS VDTN

CINYTOOT AFOTLBIT. 9

(a) OB ©nRo¥ ToH esabauaswdg‘ I
B0 BTNV

(b) BOBTOTOE LVONOTNY ﬁoasscdag%
QeSO - |

() - ROTR DITIRY YR

(d) BoOBTI WY, BYOXVHD ;

21.

22,

23.

24,

Which is the bird in the state emblem of
Karnataka ?

(a)
(b)
()
(d)

Eagle
Gandaberunda
Vritra

Yali

Malpe is known for its

(a)
(b)
()
(d)

Fishing harbour
Coffee cultivation
Areca nut cultivation

Iron and steel industry

Jute cultivation in India is concentrated

in the delta area of which of the
following rivers ?

(a)
(b)
(©
(d)

Ganga
Mahanadi
Brahamputra

Godavari

The age of a tree can be determined more
or less accurately by

(a)

(b)

()
(d

finding the ratio of height to the
width of the tree

counting the number of rings in the
trunk

measuring the height of the tree

measuring the diameter of the
trunk
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25. 080N BOORY TFew I (Indian 25. Where is the Indian Coast Guard

Coast guard Academy) @@dmm& Academy being established ?
aQ?u%&ﬁmﬁcf? (a) Mangaluru
(a) Sooneed &) Udupi
(b) VBB
(c) Karwar
(c) BUmT
(d) Bhatkal
@) By ()

26. oRNYE). odnm T@r o8 - wWemw | 26 Which of the forces is tasked with
Raod i\ S8 mo0d iy guarding the India-China border ?
RO, TR FoODF T, ARF &I ?

(a) VITRTF @ Bk

(b) AT LTS (b) CRPF
(c) ®e . (c) ITBP
(d) AT (d) CISF

“ ! " - 9
2 “CORROIR AT QR AR | 27. *“Ambaari Dream Class” refers to
(@) DT RRCD TOWOWAT BRX B erd
(b) KSRTC ob Za) 3 wx* Xead
(c) BHFUBRY a0 JBOWT TR
[CEATobstcEnvpinte)

d)  FWAPY CIRITR ¢,

(a) New class introduced by Air India
(b) Luxury Bus Service of KSRTC

(c) New jewellery design popular in
Karnataka

(d) None of these

28. a3 PO, B YDR § 0TFE 3,0

(milky way galaxy) G 50 9= ? 28. What is the shape of the milky way

galaxy in which our solar system is

(a) AOoBo* &TT situated ?
(b) w©owTT (a) Cylindrical
(c) DS (b) Oval
(d)  Rocecinms (¢)  Trregular
(d) Spiral
-9_ B
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(a) ORSF 1,08 g goRoDH |
(b) cdnexmo sodnen

() Beamod w03, TooB

(d)  OTEE 35,3 Y ARTIO TOREY |

30.

31.

32.

RUBBAT  Teawoxd QeS0T |WooT | 29,

POTIT Do T80 WreeTTRemEoD 30.
s:)tpbaia:% o3 anpod LTI~

BRYOONTS 2

(a) ow®

(b) ooz

(©) OVITF X ST

d

3, LOTOSRENTOITH

(a) 398 $0cand

(b) TerRo3ee SR
(€) BT3B $0mRd
(d) KBr e InWw

FINSINYOR I Se3BYS B3
Adex® gt

gororimon  Zood
WBIRRE T, BHODR), FRBEORBLS 9
(a) k3,

()
(©)
(d

agaas
3 [,T3F I
To3T Ked

31,

32.

Fiscal policy in India is formulated by

()
(b)
(c)
(d)

The Reserve Bank of India
The Planning Commission
The Finance Ministry

The Securities and Exchange
Board of India

From which country, the method of
Impeachment of the President of India is
adopted from ?

(a)
(b)
(©)
(d)

UK
USA
USSR

France

Wifi uses

(2)
(b)
(c)
(d)

Light rays
Radio waves
Infrared rays

Micro waves

For outstanding contribution to which
one of the following fields is Shanti
Swarup Bhatnagar Prize given ?

(@)
(b)
()
(d)

Literature
Science
Performing Arts

Social Service
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33. “moom” cinRYwo s 9

34.

3S.

(a) Bednem NGE
(b) e nxnz
(c) mo AR

(d) &Deomnishd

NITONGS, oIty oInyde RS
AT OONQTS, XoBER SORe  XEIAY

BPNTE, LT ERBIT 9

(a) mRDIT® WITLF ST Q0ROD

(b) RTIT T oo {7

(c) ﬁo@a@eoc‘ W) BREIT* BITS* St
Qo803

(d) e2ERAF WITSF ST QORCD

DoaOR* BoBRepS :a"oza; (Raman Research

Institute) T ?

(a) 433

T3]
(b) ongRd
(€) SRR
(d) oowow

33

34.

35.

“Ganja” is a product of

(a) Cocoa plant
(b) Opium poppy
(c) Cannabis plant
(d) Fungi

Who among the following can attend the
meetings of both Houses of Parliament
while not being a member of either

House ?

(a) Solicitor General of India

(b) Vice President of India

(c)

Comptroller and Auditor General
of India

(d)

Attorney General of India

Where is Raman Research Institute

located ?

(a) Chennai
(b) Bengaluru
(¢) Mysuru
(d) Mumbai



36.

37.

38.

39.

TPR,IRCT WD SerBIy,  oRPYTOoT
ePODRNRIT 2

(a) v /Rors
(b) Mbps
(¢) MHz
(d) e /ASors

Wpescdne woRE R O, Te3ay cdna

BROJOTT LMD ?

(a) 0%

(b) coaFIREsT

(c) OR TR

(d) cINT, cCXRPYTe @

GDP o Poror Cowesesd ?

(a) new’ o' ERRT BT

(b) ™I BARAF T,

() RS BROVF T35

d) ™ BRRFeIE T,
FRe  Q0WOTD TOTRLE TG
BeOBINNT), AT, BIX, 0N DY,
WHRRROET ?

(a) TELLBROTH

(b)

(c) B0

(d) =T

- Tr— T — T — T Vis— T —

36.

37.

38.

39.

-12-

(b)

Speed of processor chip is measured in

(a) Bytes/second

Mbps

(c) MHz

(d)

Bits/second

Russia participated in Tokyo Olympics
as
(a)
(b)
(c)
(d)

ROC
USSR
Russian Federation

None of these

What is the full form of GDP ?
(a)
(®)
(©)
(d)

Goods and Domestic Products
Gross Domestic Product
Global Domestic Product

Gross Domesticated Product

Weibo is a social media platform

popularly used in

(a) South Korea
(b) China

(¢) Thailand

(d) Japan
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40.

ek e Womrb@mq_’? 40. Tsunamis are not caused by
() womsno (a) Cyclone
b} Baasn ' (b) Earthquakes
(c) AT HRINS glasorgricd (¢) Undersea landslides
Ll ﬁ@;wm (d) Volcanic eruptions
41. Qe©OND ﬁ%ﬁ@ ©8 O30T &DT | 41. The highest point in the Nilgiri Hills is
(a) TRBYWL . (a) Doddabetta
(b) TFoHINO (b) Mulyangiri
() wF=on (c) Anaimudi
(d) RNo | (d) Pushpagiri
42, SRFIT FINIINIIURFTO OF ? 42.  Arsenic is a type of
(a) eved deed (a) Noble metal
(b) PTTT dReD (b) Heavy metal
(c) Forx® deed (c) Ferrous metal
(d) Sz, (d) Non-metal

43. 2 FINIYnvE, IR 1o, 07 A= | 43. Which of the following is not a grand

l
I
|
—p } slam ?
(a) Australian Open
(2) % pOODR LTS | p
(b)  Pous bI B Rrench Open

(c) Tedx BT°

|
|
| (¢c) Davis Cup
{ (d) Wimbledon
1

d) Qowes
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44.

45.

46.

0B Rodne IWOT B, 39,73 1365.
BRg %038, 0003 WEHOoT 2ONRTIN,
T 6 B, ONBe A 15 [ Jegzon
TWAOX0ZeS. 138 o83, ORI ?

(@ 270

(b) 240

(c) 284

(d) 320

0.8, 08 FB'OWD JAG

(a) TpeelperRT"

(b) RoNe3resd

(c) ToLRFIR! (,0m, w8 5o0)

d) =B

om;smaa umaﬁo:baag (zzasai:‘) o=
3003 e ﬁé%oahci‘ ?

(a) ¥

(b) 3o0on
(c) 3Zoomd

d) w9

44.

46.

The difference between the two numbers
is 1365. On dividing the 1arger number
by the smaller, we get 6 as quotient and
the 15 as remainder. What is the smaller

number ?

(a) 270

(b) 240
(c) 284

(@ 320

RK Laxman was well known as a

(a) Photographer

(b) Musician
Cartoonist

(©

Dancer

(d)

The Linganmakki dam is constructed

across the river

(a) Bhadra

(b) Tunga
(c) Sharavathi

d) Kali
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47.

48.

49,

QTR 03, 1¢ IR 93003 3 - 4 B

IV 503 420. 138 Road odory aordos,

(a) 160
(b)
©

d) 260

140

180

TRT L0 FINFE Roas, o w8y 4 Ted),

8a00IRN Rosd, 55 § AR,
& Xoa, AR 2

(@ 3
(b) 6
() 5
(d) SPIred cnYne 8,

Slover fn e.roasa B enes Bﬂdﬂﬁﬂﬁ 23 m.

AT TODCK0 206 m SNTT, DR

(a) 2520
(b)
(c)

(d)

2420

2620

2220

49.
|

47.

48.

Ratio between two numbers is 3 : 4 and

their sum is 420. Find the smaller

number.

(@) 160
(b)
()

(d)

140
180

260

Thrice the square of a natural number
decreased by 4 times the number is equal

to 55. The number is
(a 3
(b) 6
) 5

(d) None of these

The difference between the length and
breadth of a rectangle is 23 m. If its

perimeter is 206 m, then its area is
(a)
(b)
(©)
(d)

2520
2420
2620

2220



50. Qeondnesy BecwHaL WAF St 54

51.

52.

g.a0e.  Jdriowd. D  JLORENYR
WITRATS 45 s.Q0¢. Jydrotd. LoD

MOESTY O, AAOTNY o0 WX AT ?

(a) 11
(b) 12
(c) 10
d 9

6x—3y =12 583 2x—y =2?

(@ 3
(b) 4
() 10
d 6

2,070 ZoNEoDY 7 @mﬁarnm -A, B, C,
D, E, F, G. wbeiodag &5% 908 NYAT
SRB A, B, C n¥ esosny xooxd 80.
BRI ©90% NOAT FINS DWRID E, F, G
¢ ©08nY X0ex0 40. D ROAT 2038nb 60,
lerptlovelsienyile] ooy DT, ?

(a) 45

(b) 50

(c) 60

(d) 70

|
|
l
|

|

50.

S1.

52.

B —

|
p—
=)
|

|

Excluding stoppages, the speed of a bus
is 54 kmph and including stoppages, it is
45 kmph. For how many minutes does

the bus stop per hour ?

(@ 11
(b) 12
© 10
@ 9

If6x-3y=12,then 2x -y =??
@ 3

(b) 4

(c) 10

(d 6

There are 7 students in a class -A, B, C,
D,E,F, G. Inan exam, the average marks
of the top three scorers A, B, C is 80,
average marks of the bottom three
scorers E, F, G is 40. If D scored 60, what

is the average score of the class ?
(a) 45
(b) 50
c) 60

(d 70
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53. WY, dﬁﬁ@ B WO &RI Z>owody | 53. A person’s present age is two-fifth of the

“w’i,’;’ W ﬁdﬁd&%. 8 ITFnv So3v age of his mother. After 8 years, he will

930 FDONOD VFF ToIZTorHz be one-half of the age of his mother. How
~ 0.

Fooo00D TR ToRE) 2 ? old is the mother at present ?

(a) 36TIFAW (a) 36 years

(b) 38 I/FAWD ' (b) 38 years

(c) 40 SHFRd (c) 40 years

(d) 42 [IIFND (d) 42 years

54, w) RS BET gony) goeonsd HF | 54. A man has some hens and cows. If the

BRoneds. 38N Ko, 48 ngY, T number of heads be 48 and the number of

feet equals 140, then the number of hens

TGNy Roas,cdd 140 § RTNGT, will be
deeeny Xoss, o2, ? (a) 24
(a) 24 (®) .26
b) 26 ) 28
) 28 d 22
@ 22

55, 0w Xoalneo 2 1 3 O SRS ; 55, Twonumbers are in the ratio 2 : 3. If their
L.CM. is 48, what is the sum of the

sy LCM. 48 engg, Ros§nv 563

% numbers ?
7 | (8) 64
(a) 64 = (b) 42
(b) 42 } (c) 28
(c) 28
) | (d) 40
) 40 e ]



=

56. Becdne QoBOD azgsmsoojacﬁ awﬁ@agt

2020 T wRTTY w%mmm.
IR To R |WO QOTBIe e::a:{,gobabq

eodeeeixddTs ?
(a) BT,
(b) deow

(c) Boorus

(d) Toww*

57. 25/5+3x2=2°
(a) 11
(b) 12
(c) 1.25

(d) 16

58. NSO nrpzoz esepagjcgaw@m batanbod
%ﬁec‘ ones deéd%?

(a) Yo
(b) R ee*
(c) oXVITR

(d) o=

56.

57.

58.

-18 -

Khelo India University Games was

inaugurated in 2020 in Odisha. Which

state is hosting its second edition ?
(a) Maharashtra

(b) Kerala

(c) Karnataka

(d) Punjab

25/5+3x2=17

(a) 11
(b) 12
() 1.25

(d) 16

NSO Group that developed Pegasus

spyware is from
(a) China

(b) Israel

(c) USA

(d) Russia




o

59.

61.

12 RoSReQ, o Foroness 2

(@) 86000
(b) 43200
(c) 36000
(d) 44000

3,5,6 Hoa,NvE), CARTYTIIY WSCORIFRES
@ﬁ%Z es080o =B 3 9080 'h‘oa.?éﬁ'-'-‘aigt
SIRBITO ?

(2 4
(b) 6

(c) 8
d 12

A 39 B 20m> Se¥S(FH)N0 330N
12 035 24 PaAST el IRACLH] 39,08°) O30T,
B0WWQR). DTRER BRYSNIIY m{ﬁ
WHRTS, SREFODI B0WR ), FO0D
BRBEWITT ?

(a) 6 RN
(b) 4 dao=NL
(c) 9 JoINed

(d) 8 daoInsO

59.

60.

61.

Number of seconds in 12 hours = ?

(a) 86000
(b) 43 200
(c) 36000

(d) 44000

How many 2-digit & 3-digit numbers can
be formed by using the digits 3,5,6
without repeating any digit ?

(a) 4
(® 6
(c) 8
d 12

Two pipes A and B can fill a tank in 12
and 24 minutes respectively. If both the
pipes are used together, then how long

will it take to fill the tank ?
(@) 6 min.
(b) 4 min.
(¢) 9 min.

(d) 8 min.
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62, BRBTOT Porarniaen : 7, 49, 343, 2 62.  Complete the sequence: 7, 49, 343, ?

(a) 2401 (a) 2401
(b) 2449 (b) 2449
(c) 3401 - (¢) 3401
(d) 3437 (d) 3437
63.  ABCDE : LMNOP :: FGHIJ : 7? 63. ABCDE: LMNOP :: FGHI : 22
(a) QRSTU (a) QRSTU
(b) MNOPQ (b) MNOPQ
(c) STUVW | (c) STUVW
d UVXYZ (d) UVXYZ

64. ZOIRE & 80303 WO 50 Bo.ave. | 4. The perimeter of an isosceles triangle is

ez 18 Zo.Qoe. SNGY, RN wOnY 50 cm. If the base is '18 cm, then find the
W‘?—?Q B0R) SR0°00. length of the equal sides.
18
(@) 18 Bo.Qoe. (a) 8 cms
(b) 20cms
(b) 20 So.0e.
(c) 12cms
(c) 12 Zo.oe.
(d) 16cms
(d) 16 Zo.a0e.
65. mgama @d)?)maag% TPOFRROR. 65. Complete the sequence.
K
' 1 - )
T 1 ‘) 1 :
v
a) |*T ® || >
@ |+ ® || +» (@) ) |3
o | o
o | Al o | | &
_"-‘-‘—l—n—

B -20-
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67.

08.

69.

DIPCOVAN 058¢R5 2

(a)
(b)
(©)
(d

COVID @9, 83¢

COVID %, 85003 m3 ses
COVID Sox* 3¢
ORI FOTR

1948-49 T TSZRT JVP Zan80d 83
IINSINIL, CIRTTE BoroQrTS 9

(a)
(b)

(c)
(d)

OUT Frodessd

TR BH0T Boed araxowﬁrw
o1k 1]

LTS To& u;eo:'o TR
SC &3 STs oexensd

w8 em, 1857 T Goriod So08 T 9

(a)
(b)
(c)
(d)

SMpleshe.ple] (Cooperation) ge0B, 50,

fcpletnl e
TR BIROTOTR, T
223 % ToOT*

erio BT B’

=008, 2

(a)
(b)
(c)
(d)

Va

0T’ T

T Tr° Beed
Breym 3005
Evlepiaiopi-ioied

B e e e st s s e e . i e

66.

67.

68.

69.

What is DIPCOVAN ?

(a)
(b)
(©)
(d)

COVID Vaccine
COVID Antibody Detection Kit
Type of COVID Virus Strain

Pharma Company

JVP committee which was constituted in
1948-49 was related to which of the

following ?

(a) Industrialization of India

(b) Formation of new states on
linguistic basis

(c) National language of India

(d) Reservation for SC & STs

The leader of the revolt of 1857 in

Lucknow was ?

(a) Tantya Tope

(b) Maulvi Ahmadullah Shah

(c) Birjis Qadir

(d) Begum Hazrat Mahal

Who is the Union Cabinet Minister of
Cooperation ?

()
(b)
(©
(d)

Amit Shah

Prahlad Joshi
Shobha Karandlaje
Anurag Thakur
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70. oInz draenssagl a)sdaa‘ deen 0TR

71-

72.

803033 9

(a) ®om

(b) I (Boxdeen)
() w%ﬁnodgs

(d m3Io

26 Se wIF0 1950 TORD LRTIT ToDHS

WO women, PRTUSE TORTINT a&a

&nzg ?

(a)
(b)

(©
(d

250%,3¢3 Rroooty

ATRETVO 203 3¢3 T 20T, ;0%
neasozs,

MBF PR T 03 Reooor,
TORFLRR B NuTO 3,83

10T 73 Reaoor,

O30T 3 IIUT onBRe TRFIY

o3RS BB 2

(a)

b)

(©

(d)

T U5
Cplol~oiNlevip)
Fesedon

o,

70.

7.

72.

-22 ~

Which disease is also called Hansen’s

disease ?

(@) Cholera

(b) Leprosy

(¢) Dementia

(d) Cancer

What was the Constitutional status of

Im_:lia when the Constitution of India

came into force on 26™ January, 1950 ?
(a) A Secular Republic

(b) A Socialist Secular Democratic

Republic
(¢) A Sovereign Democratic Republic

(d) A Sovereign Socialist Secular

Democratic Republic

Africa’s highest mountain, Mount
Kilimanjaro, is located in which

country ?

(a) South Aftrica
(b) Tanzania

(¢) Nigeria

(d) Kenya
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73.

74.

75.

76.

RBRS IBFRR B3 duny  cing
m%p@ﬁ OWORDAT 9

(a) COOMRD
(b) W

(c) & Jpew
(d) Beew

2RNYY, CIRTITO OYMIT 2,08 TR/
DTN ?

(a) ©LBEo

(b) SISO

(c) o8 33

(d) ZeeRoD0

RRORINT RO, B, W) o3
RTINS ?
(a) 1133 AD.
(b) 1233 A.D.
(c) 1336 A.D.
(d) 1433 AD.

denl QZS[E Toone), 8o WOT
THBBM KoLIoPRTRIT

(a) =ors* 9=
(b) =PoFT =R
© Reper e
(d) o 93O

B e e e e s et e e

73.

74.

78.

76.

Snake boat races are associated with

which of the following festivals ?
(a) Yugadi

(b) Onam

(c) Chatt Puja

(d) Holi

Which of the following is a form of
Yakshagana ?

(a) Attakatha

(b) Navarasas

(c) Tenku Thittu

(d) Totayam

When was the Vijaynagara Empire
established ?

(@ 1133 AD.
(b) 1233 AD.
() 1336 AD.
(d) 1433 AD.

Settlements found during Keezhadi
excavations belong to

(a) Sangam period
(b) Mauryan period
() Mughal period

(d)  British period



77. omT @) os,oteroRny, B

-78.

79.

DR DT, ?

@) 25 SRFrsH
(b) 30 I\erid
() 35 IRFAH

(d) 18 SHrFrisd

83 BINIJYNYS, 3w FE80¢ SBo0sm :am-.i';.)b
W3 xuqirom ORI ?

() o ™a Boce
(b) goww
(c) wgpe

@) oo

OE3* NYR), Qe ZRAFFS Q50 3

FINS 03N BeDIT SRODG WIS ?

(a) 32
(b) 326
() 226

@ 126

y i A

78.

79.

—24 —
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What is the minimum age to be appointed

as the Chief Minister of a state ?
(a) 25 years
(b) 30 years
(c) 35 years

(d) 18 years

Which of the following Buffalo Races is
held in Karnataka ?

(a) Bail gadi shariat
(b) Kambala
(c) Jallikattu

(d) Maramadi

The power of the High Court to issue

writs comes under which of the

following articles ?
(a) 32

(b) 326

(c) 226

(d) 126



8. BINS OIS BHOHY oy wo@sy | 80. Yerava tribe is mostly found in which of
[

HEOTIY) 98 T2 NS 2 the following districts ?
(a) wWONOBREE (a) Bagalkot
(b) TTWT (b) Karwar
n
() e (c) Kodagu
30
@ v (d) Bellari
81. 2POUST TORBY CINRWT), LIRRORT 2 81. The Parliament of India consists of
(a) Lok Sabha, Rajya Sabha, President
! -
(a) SReERY, TR, YPTT To 38 of India |
(b) Sresxel, Tor T (b) Lok Sabha, Rajya Sabha
(c) Lok Sabha, Rajya Sabha, Prime
() <lresy, Tow Xy, T eos w08, ' Minister
@) resed, oom 23, S0, FoF (d) Lok .Sa'bha, Rajya Sabha, Council
3 of Ministers
8. BYNSJNYE, OIRRTO 33, ? 82. Which of the following is TRUE ?

neseot 9533/ 9% CInla)
(a) S (a) Governor cannot be removed till

= SIpoen IR
TFproFeend the completion of his/her term.

FBOOTOROY, -

(b) oot TXEOND @ﬁ%@wdﬁi (b) State Legislature has the power to

e T st R I TalDle) impeach Governor.

BRODT. (¢) Chief Minister has the power to
(©)  Swogn oot TOOTY I remove Governor.
BrigometoR ©PTTIT. | @ Th
) ¢ President of India has the
(d) RU3E (ooR m)wc{si@ﬁ ”ﬁﬁrd_ I
2] " ; power to remove Governor.
) 3rie> TS QTOE: |
-25- B
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83.

84.

85.

WTIT  bEE
TNSINUAR  oIvPYug  edmemmesd
ROWORAE), ? l

() s e
(b) eI (comms)
()  WormoDha T PR

(d) aInvY cnPYae oL

B FNIYnvY, cdngymd LERW/BeoT, 84.

TIOIRFONT LPNEE) 2

(a) wr;‘szgidl (caa;jda)

(b) UGB

(c) enRIF BITS* &* Q0B

(d) wWep* WA ST RORBOD

WX 0°. WRTRON Vs 0RRAOHR® et 85.

RERCINT  FIRY, a0 Beetrr
OBILI P asﬁajabx;ci%

(a) 5,30 don
(b) O 3T

() Sworied Byt

(d) JTDer3s33nicd
-26-

cﬁo:!mcmg =4 83.

The Election Commission of India is not

concerned with the elections of/to the
(@) Lok Sabha

(b) President

(¢) Panchayats and Municipalities
(d) None of these

Which of the following is not a part of

the Union executive ?

(a) The President

(b) The Vice President
(c) The Attorney General of India - |

(d) Chief Justice of India

The landmark judgment of the Supreme
Court in S R Bommai Vs Union of India
dealt with

(a) President’s Rule
(b)  Writ Petition
(c) Fundamental Rights

(d) Directive Principles




it

86. 03T NO&UQDQESQ AWT wRcY), | g6. The Constitution of India can be

STTR SRTBUTIT 9 amended by

(a) DI 365 (a) Article 365
(b) GeDI 367 : (b) Article 367
(c) Sed 364 | (c) Article 364
(d) eI 368 (d) Article 368

87, FINSPNYY, TTFLIBE odnsm IO 87. Which of the following is a west flowing

a‘:%sa’bﬁo TOOXOIT ? river of Karnataka ?
(a) TeTNES (a) Hemavathi
(b) &% (b) Kali

(c) Boonyms, (¢) Tungabhadra
(d) PuIe (d) Ghataprabha

88. FToFuE TS wodeenEN) oIRRYTC | g8,  Karnataka Information Commission has

SR T LR/ BROOXONS ? been set up under
(@) BooFLE NS TOWT (a) Karnataka Information Act
(b) s T8O, TOONT (b) Right to Information Act
(€) BToFLss cReToc3s To0l0 (c) Karnataka Lokayuktas Act
(d) 88rom B8, . plevein] | (d) Right to Education Act
89, To2s, TeFo%> e5g,5T 03T ? 89. Who is the Chairman of Rajya Sabha ?
(a) YPUIR LG ID (co%aﬂé) (a) President of India
(b) U8 I, w08, (b) Prime Minister of India
(©)  opogs tvm oS F0% | ()  Vice-President of India
(d) U3E BeovoRd 008 2|7 (d) Finance Minister of India



&

90.

91.

92,

93.

VWYY, cInYro oS Tody oD

BOTR, 63 ?

(@) HomROD POIRS
(b) &= (Bexnr)

() nom3BD BT
(d) Ded swone

IPNIPrvE), to03a IR S Seans

WRBORZ /0 T,Te3 WO (Landlocked)
3e3R ?

(a)
(b)
(c)
(d)

Sezov
PRz
e85 jamgas
EIJ‘% preled

FINSYNTE, CINJTD  TOTIE RO%,

©Q,?
(a)
(b)
(c)

(d)

LITIT BoOToTE wodnen
geoT, MTF AT Beem sodnen

faplexiat GO@’J@EOU‘ VD) PRLI*
(~tatelod
BooF 838 dmea:aoi:a§

mERSon  IPC - omd ﬁdczm@csag
TS RN DFozH BOODORrSTS 9

(a)
(b)
(c)
(d)

QOBODT® a':i‘aae?d Fex®
BoRCIR T Fnert
QORODT® TI* Bers
QOO IBO* mg gnems

90.

91.

92.

93.

- -

Which among the following is the
national water animal of India ?

(a)
(b)
(c)
(d)

Gangetic Ghariyal
Turtle

Gangetic Dolphin
Blue Whale

Which of the following neighbouring
countries of India is not a landlocked
country ?

@
(b)
(©)
Q)

Nepal
Bhutan
Afghanistan

Myanmar

Which of the following is not a
constitutional body ?

(a)
(b)
(c)

(d)

Election Commission of India
Union Public Service Commission

Comptroller and Auditor General
of India

Karnataka Lokayukta

What is commonly known as IPC in legal
parlance ?

(a)
(b)
(c)

(d)

Indian Penalty Case
India Penalty Code
Indian Penal Code

International Penalty Code




4

94. 57“;@@% U, 803030 94, Custodial Torture is

(2) R aﬁ"am WOOPI =) (a) a form of Human Rights violation
BT WO TRT _ and an offence

(b) CRD TR Jnne ) (b) alegal wayof interrogation and not
BTOIGI, | an offence

(c) AP dBR @3Ny e'.)docé (c) not an offence when used against
WYATON STOFRY, . anti-social elements

d) TRIT TG ops, @od (d) aform of Human Rights violation,
OTOIFRE), but not an offence

05, “TBEO ROPRK” BRNYRY,  wod 95, “Cooperative Societies” as a subject is

RoDTN  KODTIRE  OINT a:‘agdoi)c?_, listed in which list of the Constitution ?
T, INEBRNT ? (a) Centre list
(a) eog, wegd ' (b) State list

-l
(b) oo, e, (¢) Concurrent list

(c) NFOR I, _
(d) Residuary list

(d) eved T

96. xoxsx ol QECTTHEY ognpoow | 96. Joint Session of the Parliament is

|
oo j l summoned by
ORI ?
- I (@) The Prime Minister
(a) TSRS, I (b) The President
(b) oo (e3TD) { (©) The Union Minister for
(©)  Roooes BEone fodE0S | S
)

« I [ (d) Speaker of Lok Sabha

) neg Kylod A _29- %



97.

98.

99.

100.

mmm deennei™y BOBT SeLINV) 97.

AR (s b} BB ?

(a)
(®)
(©)
(d)

TR (&30, T petdr TF)
gromnsh (Been Fowod)
WOBBNEL

SUTFPETBNL ([TBO, Wersx')

COVID-19 3 Ben, Uamo30sy Sfocs> | 98,

8RR B3COOIT 9

(a)
(®)
(©)
(d)

BOF I8 BTV ¢ES BaRFIONTY O,

m@aﬁmo&:& ?

(a)
(b)
(©)
C)

81 INSJINVQ,, cina YWY smorws | 100.
HBRFFS T3] ?

(a)
(b)
(©
(d)

B.1.617.2
B.1.7.216
D.1.7.216
D.1.617.2

99.

SRR
WD
oD, R
Lemed

W0
[ADleDIA S
FWOONPRTO

Insects that can transmit diseases to
human are referred to as

(@) Transporter
(b) Reservoirs
(c) Vectors

(d) Incubators

COVID-19’s delta variant is also known
as

(a) B.1.617.2
(b) B.1.7.216
(c) D.1.7.216
) D.1.617.2

The first Steel Plant of Karnataka was
established at

- (a) Mysore

(b) Bellary
(c¢) Bhadravathi

(d) Hospet

At which of the following places is abranch
of Karnataka High Court located ?

(a) Ballari

(b) Dharwad
(¢) Mangalore
(d) Mysuru

-30-
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